If four people all getting the winning lottery numbers for a
$23,663 jackpot, how much does each person get if they have to
split it four ways?
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We need to talk about remainders



Connect

Dividng with decimals

6.53 divded by a



ldo
392 divided by 3



We do

T1a divided by 2



You do together
on whiteboard

Represent the answer using
a remainder, a fraction, and
a decimal

342 divided by 4

You do alone on
index card

Represent the answer using
a remainder, a fraction, and
a decimal

If | split $249 among 6
people, how much money
will each person get?



